
Soustraire des fractions mixtes négatives (H)

Nom: Date: Note:

Calculez chaque différence.

1. (−447) −
3
8 =

2. (−2 811) − 135 =

3. (−314) − 513 =

4. (−134) − 523 =

5. (−437) − (−212) =

6. (−5 911) −
1
6 =

7. (−138) − (−545) =

8. (−123) −
5
7 =

9. (−3 111) − (−415) =

10. (−2 811) − 137 =
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Soustraire des fractions mixtes négatives (H) Réponses

Nom: Date: Note:

Calculez chaque différence.

1. (−447) −
3
8 = (−327 ) −

3
8 = (−25656 ) −

21
56 = (−27756 ) = (−45356)

2. (−2 811) − 135 = (−3011) −
8
5 = (−15055 ) −

88
55 = (−23855 ) = (−41855)

3. (−314) − 513 = (−134 ) −
16
3 = (−3912) −

64
12 = (−10312 ) = (−8 712)

4. (−134) − 523 = (−74) −
17
3 = (−2112) −

68
12 = (−8912) = (−7 512)

5. (−437) − (−212) = (−317 ) − (−52) = (−6214) − (−3514) = (−2714) = (−11314)

6. (−5 911) −
1
6 = (−6411) −

1
6 = (−38466 ) −

11
66 = (−39566 ) = (−56566)

7. (−138) − (−545) = (−118 ) − (−295 ) = (−5540) − (−23240 ) = 177
40 = 41740

8. (−123) −
5
7 = (−53) −

5
7 = (−3521) −

15
21 = (−5021) = (−2 821)

9. (−3 111) − (−415) = (−3411) − (−215 ) = (−17055 ) − (−23155 ) = 61
55 = 1 655

10. (−2 811) − 137 = (−3011) −
10
7 = (−21077 ) −

110
77 = (−32077 ) = (−41277)
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